


START CODE
<div type="textpart" subtype="face" n="rev" rend="linear" xml:lang="grc"> 
	<ab> 
		<lb n="1" /><gap reason="lost" quantity="1" unit="line" /> 
		<lb n="2" /><gap reason="lost" extent="unknown" unit="character" /> <orig>π</orig> 					<gap reason="lost" extent="unknown" unit="character" /> <orig>τ</orig> <gap 						reason="lost" extent="unknown" unit="character" /> 
		<lb n="3" /><gap reason="lost" extent="unknown" unit="character" /> <expan><supplied 				reason="lost"><abbr>κ</abbr></supplied><abbr>ριτ</abbr><ex>ῇ</ex></expan> ἐπ				<supplied reason="lost">ὶ</supplied> <supplied reason="lost"><expan>									<abbr>τ</abbr><ex>οῦ</ex></expan></supplied> 
		<lb n="4" /><expan><abbr>Ἱππ</abbr><ex>ο</ex><abbr>δρ</abbr><ex>όμου</ex></expan> 				<expan><abbr><am><g ref="#kai" /></am></abbr><ex>καὶ</ex></expan> <expan>				<abbr>Π</abbr><supplied reason="lost"><abbr>α</abbr></supplied> 
		<lb n="5" break="no" /><abbr>φλαγ</abbr><ex>ονίας</ex></expan> τ<supplied 							reason="lost">ῷ</supplied> <gap reason="lost" quantity="3" unit="character" /> 
		<lb n="6" />τι 
	</ab> 
</div>
END CODE
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